EARAROBEEIERT — 2 N— IBISH —F

20174108298 (B) 10EIEER2H

m B2/# 7% —% ‘ X8l 7 ‘ [EmR - | & () 16000 =
[A&4£] 1% :300,000™ ~ 23#%:60,000” ~ 337%&:30,000H  43%&:21,000” 53 :9,000 8
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N o N AHERE :38. - . — #EX (KiR)
117lg| b7¥awJiun "4 R6a.0 1(3_8)4 = g3 ’ (44;7) {4 AEER
Rk iwH/kwF BXH—FhUaY RS 3 vEERRRI FY Y3 K
s S, =P AFi8E :38. - . — FEER (KR
2|8/ 9| ¥ TRINVFr T R e A R ‘ g) S
L:x>THANAN B:Yv—wET i/ cie ]
Q s 4 5 | HER 1:38.8 1-1 38.5| — 1 473 | AR GKR)
3 6 XY LV 54.0 (2 1/2) (45) $A/KEAPOER
R:AA3gyLvy B:L—254 MIAH [ a=bie]
S 4 5 | BT 1:39.0 8-8 37.8| — 5 490 | BIWfE— (KR
4l8li0l FIvaIsT—0 5.0 a1 o |EHEF
R:t>r/QJAA4 B:Fa—->buan roavEERKSH T Y3 0K
= _ o6 | HEE— 1:39.1 3-2 385 — 2 447 | /INEETE (2%F)
1111 ZF—TF— h 560 /2 (o) 1) N—bF—vu TRER
RH v ThI— B:TalT7 Lalitie]
AN 44 | WA 1:39.3 6-4 3.4 — 7 482 | FREHVEA (BERE)
6 4 I7T1>v3~> 56.0 (11/2) (+6) IWARKS
L:g=/FXLLy b B —LADINMT ALTINT 7—L
“ 4 9 | SBEERE 1:39.7 10-10 37.8| — 3 495 | =FHEBE (KR)
7 gl 1FFYY 56.0 2 1/2) (16) | ILiRHE(E
RTANEKET Yy a2 BEYNETH e
R . ERERE : = — IRRE (KR)
glzl7 | #>7—kFz2%— - @ M R O (R
LTI RTIA4 8 BiF>T—FIIT« * 27— Rikis
— [IpSt3 140, - . — RSILES] (B%ME
9l5l5| ¥Y8srF1vy it 6 o 1(14/02>4 4-6 39.8 8 :1_540) e
RNy BZhTz BTV yx #HAEHE IV T4
3 5 Bl BB AR 41, = . — HEEE (KR)
10 o | ¥EITAY — I 56.0 1<441)1 3 0.6 6 ?_318) EBEH
L:7RYfYL—> B:77q4>FAy T iEigse
® 1—F—@EBIERL
13—7-—
2a=5"=
Ja=5= 6,2,1,5,7,4,8,10,9,3
43—+ — 6,1,2,4,8,5,9,10,7,3
[ N5
B 8 2,720 714K 8-9 1,660 e E 7-8 2,890 JEE 6-8-9 5,740
B B 8 260M 6-8 880M B = 8-9 9,640M EE 8-9-6 89,240
9 240M 6-9 370M B H 8-9 20,0504
6 140/

ABICOVWTRDTEEERROODE. TR LIV,



